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Answer either in English or in Assamese

1, Answer the following as directed : 1210=10

v

woe frmcerer fArrant) e fan

(@) In a capitalist economy, the level of
employment depends on

-,
..... "
‘\

~ ~
o \.At\o \:, = \'E q R 4 ’!‘2, o =4 ?Vy.q

i) level of aggregate demand

THET TR TER €UKT

(n) level of aggregate supply
SIS (WSTHR TER §47E
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(2)

(iii) level of effective demand
Aoy wifEm TR e

(iv) None of the above
4949 G518 7

( Choose the correct option )

(= fagao afz Tfaga )

(b) Aggregate demand can be expressed as
— mafae vife ger @l

() D=D,+D,

(i) D, >D,

(i) D, <Dy

(iv) D=D,-D,

where (1'8) D = Demand (%)

D, = Consumer demand (CST&T IfZ41) and
(91%) D, =Investment demand
(fefercmst wifzn)
( Choose the correct option )
(o= femchr aifk Sfeear )
._(f) When money wage rate is unchanged,
the slope of aggregate supply function is
cafen g R 7 weARaeRE, cefent S
@ FR HRR 24
(1) linear
22A/40 { Continued )

(i) non-linear
g-(af4@
(i) curved
&
(iv) Any shape
s S
( Choose the correct option )

(o7 fawais) a2 e )

4@/ According to Phillips, the relationship
between unemployment and the rate of
change of wage rate is
fafaa e Fra = T AR 7
TR FAE! 2

ﬁ inverse

feflre
(i) linear
taf«s
(iii) non-linear
5-taf4=
(iv) both inverse and non-linear
farfRrs W@ H-(4F 62
( Choose the correct option )
(= Resch A% ¥Ee)
( Turn Over )
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(4) s

(e) Phinps curve determines 2. Answer the following\\: 2x5=10
€ fATRRe Tae fay ;|

(a) Differentiate between spot and forward
exchange rate. \

SRR @R R 3

() employment rate

SR o I $ RfEmr TRe e el fadfy
(i) unemployment rate 1 | »
RAPCLEG (b) Write two co;l\stituents of international
(i) inflation rate financial market.
oo =/ WEsfee A8 T3 1 Tomma T o
(iv) All of the above (c) What are t%'le [-S components of
Mundell-Fleming model?
s Jeos-@fas W33 SRy-REAwsR Tammwr &
( Choose the correct option ) 9 MV~
(o= s R e ) (d) Give two merits of Phillips curve as a
\Q What is modified Phillips curve? tool of economic theory.
sepie Refeg @ &2 ;ﬁqﬁ@mﬁﬂﬁﬁvﬁm@m
. |
(g9 What is assignment problem according i
to Mundell? (e) Deﬁn.e igpossible trinity of Mundell- |
T @ wifirgeyd SrfeR e & 7 : Fleming model.

i EREINES : 3 |
(h) What is Dornbusch’s  overshooting s { WIfRE SRR IR R fa
&

model? 3. Answer any four of the following : 5x4=20
wefqba o sragfes wifEeh f 2 wed feaeA s T for

() Define international financial market. a) What are the factors which cause shifts
s 48 qureq siten fi | .~ in the short-run Phillips curve?

(j)/« What is open economy? @R fEre e TR fBfrr @uE

YV o weif R ~ SRS TR @ =2
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(6) (7))

(b), Explai ;
\/ plain the concepts of rational 4. Answer any four of the following : 10x4=40

expectation in theory and practice.

ofge WE FRRE Fage (fes Ao
QRETICOT T <40

(c) What is adaptive expectation? Mention

three limitations of adaptive
expectation.

Sferite dern 50 TR R SHrme
TeE 90

/

(d) How is the exchange rate determined in
a free market? Explain briefly.

To Tors R 2R e e 0 =, 710w
T |

(e) What are the relative importahce of
aggregate demand " and aggregate

supply?
e W W ANEe @R e
AreelRT 9% 92

() . How can the aggregate supply function
be derived?

Wmﬂmwmﬁéﬁaqwmv

22A/4Q ( Continued )

oo e vifeR Sed g :

()

Explain the purchasing power parity
theory. Discuss its limitations.

WWW@K@TWWWIW

TSPz A T4

Explain Mundell-Fleming model in
terms of monetary fiscal mix policies
under fixed and flexible exchange rate
with perfect capital mobility.

ﬁ“ﬂ#wﬁaﬁmtﬂt@@amﬁﬁ?@%
Ry TS TeT-GRRE (R S S
e i MCH M 4

How does the Phillips curve explain the
trade off between unemployment and

inflation? Discuss its policy implication.
v

fferr @R @Ee R S e
1 e T T 2 T Afesrs R
HCEAAT 991

What do you mean by effective demand?
What are its determinants? Explain
briefly.

s{mmﬁmﬁtﬁﬁ{ﬁmw@wﬁ
& 2 oqLe I AN

( Turn Over )




(8)

how undcrcmploymcnt

S determined with the help
d and aggregate

(e) Discuss
equilibrium 1
of aggregatc deman

a@mﬂmmﬁﬂﬁmqwm, 2Tl

), Explain the Dornbusch’s overshooting

theory.
Tl T SRER ogCo! A T

@. Write a note on monetary ap
balance of payments (BOP).

proach to

T el (BOP)R T G IR
Pogesatcslll

(h) Explain the asset market approach to
determine exchange rate.

Afmg 7 fEe SR T Vil
4y 4 |

* Kk
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